08 ulai cliosS

Lus)Ss oVl 6 ioboll &l pl2all

3 o]

AwSYHAD (o diSIl 0 20% e seizy Jslxalle d=1,2 1 QW1 oL LYl dawsll e Gubaill 85l gilo Sy
il 038 0 ASTI dbolgall Lwlidy 6,l2all dlawlgsay . 091380
. Cy=6mol.L”" 3 So Jolxall 138 i85 ol -1
. po=1g/mL :clall duxxll aisIl lass
.C2=0,10 mol.L-" 08 ,5(hyaolsdl Gan>)u29)ugl 19,0180 Lilo Yolxo Jasiuwi 6 uleall 0ig plall -2
b leall Jelas dsles sl
JS a=s. St Jslzoll o V=100 mL pxdl ules. St Jslxall le Jguaxll 6,0 500 So Jolxoall aass -3
Hlell HLily dbolgall uld dd> (wlad o Ligll dledll audll Joruw (el sy ) uleall Jolxall 45Lo)

LSl Jeaxdl L3 clwlall Jﬁi
180 | 160 | 140 | 120 | 10,0 8,0 6,0 4,0 2,0 | Vo(mL)
87,0 | 704 | 534 | 359 | 40,7 | 467 | 520 | 565 | 612 | I(mA)
650 | 6,47 | 645 | 650 | 649 | 647 | 647 | 645 | 643 | U(V)

ol Vasq paxxd] i) G=f(V2) oluall Jio. Vo axxl) @dlo] JS sie Jolrall G dlolgoll dad cuusl
893 i Lol
. So Jolxall L8 a5 St Jslxall (8 auwS9 gl wlissl 5855 sl -4

oo lgie leall Al ds,las dxgll JD.So Jolxall (9 porguall 2uSs g akiSUl dysinll dpidl el -5
¢ &glall Vb

1\1 éxa.all




